=
9. B &
1. EEORS CEQL  km - %) 244 A 1 HHAE
s @ 4 % £ E M=
) " MO vk A R[] M B %
1 195.5 195.5 100. 0
4 B 9.1 9.1 100. 0
284 = 40.7 40.7 100. 0
342 Eaa 67.4 67. 4 100. 0
343 5 30.8 30. 8 100. 0
456 =2 31.8 31.8 100. 0
457 = 13.7 13.7 100. 0
346 = 2.0 2.0 100. 0
* o H b5 ] 129. 4 129. 4 100. 0
— B &= =5 R 0.1 0.1 100. 0
T il = R b 33.5 33.5 100. 0
— 4] 1t = i 9.2 9.2 100. 0
VN = = Ui f 15.4 15.4 100. 0
— i X H R 22.6 22.6 100. 0
CI S S 18.1 18.1 100. 0
TR kX B’ 1.8 1.8 100. 0
R E & B% R 17.1 17.1 100. 0
= i) N = R 11.6 11.6 100. 0
[ H 187.5 191. 1 101.9
I 5] tho 5§ h 5.2 5.2 100. 0
I R R i N 1.6 1.6 100. 0
o) e R 10.6 10.6 100. 0
PN B 0.1 0.1 100. 0
B fE #H B OB 0.0 0.0 100. 0
EI N S 0.8 0.8 100. 0
/I S . 0.0 0.7 100. 0
oA = #H 5 ® 0.1 0.1 100. 0
i ¥iq E JII f 11.7 11.7 100. 0
# il 1t R fE 7.3 7.3 100. 0
£ ik =| JE5 h 2.3 2.3 100. 0
H R # il fo 1.3 1.3 100. 0
i 5 L 5] fE 1.6 1.6 100. 0
X ] " FE b 0.4 0.4 100. 0
H fn b Fiq f 14.8 14. 8 100. 0
1t = A R 3.6 3.6 100. 0
A JI n R s 4.7 4.7 100. 0
NS S VI I 6.5 6.5 100. 0
£ W R foar WM 9.0 9.0 100. 0
H JE2 R 5 i 14.7 14.7 100. 0
VN il E i i 7.5 7.5 100. 0
— R N * fo 4.5 4.5 100. 0
Ha BeOOHm 8 R 3.5 3.5 100. 0
i H H R p 13.6 13.6 100. 0
il B x Ji f 15.9 18.8 100. 0
ZiN I + JEL R 10.7 10.7 100. 0
w (L iz 1~ o 11.7 1.7 100. 0
ES 15 it N f 4.8 4.8 100. 0
i A 7 1 i 4.8 4.8 100. 0
it R N i B 11.2 11.2 100. 0
i H 1 9.0 9.0 100. 0
Rt H #  # E 9.0 9.0 100. 0
CEQZ  km» %) D444 A 1 BHAE
4 & 4 £ B Mo f
", " Bosk O e B| M % F
il b1 4,279. 1 2,347. 3 54.9
1 W (197 B O ) 617.0 590. 0 95.6
2 oo 236 B OH ) 442. 7 392. 1 88.6
T o (7,226 ¥ KR ) 3,217.7 1, 363.6 42. 4
‘ ST A R (23 B RR) 1.7 1.6 94.1
B H T OB, EEGR

SRR 2 S T
MRS (%) & HITNEEL TR
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(Hif7 : ha) SF44E4 H 1 BEAE
X 4y | B | #HIXAR | EBEAR | M AR | #R Rk | EEVARE | AN | R
N 87 4 2 4 1 3 1
il b5 148. 50 10. 97 4,72 9. 38 34. 49 21. 20 66. 66 1.08
Rk - AT R
3. FMTEHE A&
(H47 : ha » % SFA4E4 H 1 HEAE
5 % [ [ T ] %t T T &t
- - — — 73 ES T £ £'3
JiE i il i i P Hh E Hh B
39 H fF E ¥ fk Hh fik H
% =] = & JE Hh Ik Hh
& & Hh H fik i
Hh &= £ fi i
i) };H N
e W
fak Hh
fik
e | THIFH 282 285 419 15 61 119 241 115 244 1,781
e .
Kepkkt|l 15.8  16.0  23.5 0.9 3.4 6.7 13.5 6.5 13.7 100
(351 i FE)
— 5 sk 233 233 306 8 50 86 205 58 146 1,325
T Je i dak 30 38 59 5 9 22 15 30 — 208
giip:iihog 19 14 54 2 2 11 21 27 98 248
ERE - AR TR AR
4 . v« ¥ v
BiX - ik (BANZ - ha)  SFA444 H 1 HBAE
X ga [if] FE
A g 163.7
[ ke Htdag, —
YER K itk 163. 7

Bk EP TR AR



(AL : ) K4 H 1 ABE

i =t REANLERETE o =1

4. 2 1,153 158 40 515 371 40 26 3 46 30 16 291 — 24 233 22 12
3 1,145 152 40 515 377 32 26 3 46 30 16 291 — 24 233 22 12
4 1,085 152 40 467 365 32 26 3 46 30 16 291 — 24 233 22 12

(HiJ5A1))

— e b 635 42 20 467 77 — 26 3 - - -

At % gk 8 45  — — 41 - — — _ _ _

KR I8 105 7 12— 74 12 - - 0 — 10

FJe il 43 12 — - 31 - - = - - =

B &0 9 — — 51 20 — — 26 20 6

SRR M 50 3% — — 15 - = = 0 10 -

P55 ek 31 2 8 — 21 — — — — — —

FRE IR HiL 5 55 — — — 55 - - - - - -

BRE - AR TR RRR
VP R B A — B B v —
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